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Find the amplitude and period of each function. Then graph the function. aJl.\” J.uo 5 .ddls JSJ b).mJ|9 dszudl A>
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5. SPIDERS When an insect gets caught in a spider web,  -3s» 14 5,4 dSeddl jig5 «guSic dSads Q Badia> Bls5 sic Sli=ll 5
the web vibrates with a frequency of 14 hertz.

) Al 3,38 s> a
a. Find the period of the function. 12 o about 0.07 second
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b. Let the amplitude equal 1 unit. Write a sine equation to Sl e Sine dlslzs . 84219 839 o9 ol uasl b

represent the vibration of the web y as a function of time . LGle dsleoll Jio @5 .t o3l s y asldl
Then graph the equation.
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Find the period of each function. Then graph the function. Llo dluJI J.Eo P}' dls JS 8,38 s>
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Identify the period of the graph and write an equation for each function.
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